5.4 Subtracting Polynomials

$$
\begin{aligned}
\text { recall } & (-x-) \Rightarrow+ \\
(-x+) & \Rightarrow- \\
(+x+) & \Rightarrow+
\end{aligned}
$$

Subtract

$$
\begin{aligned}
& \left(-5 K^{2}+2 K-6\right)-\left(53 K^{2}=4 K+1\right) \\
& -5 K^{2}+2 K-6-3 K^{2}+4 K=1 \\
& -5 K^{2}-3 K^{2}+2 K+4 K-6-1 \text { combine like } \\
& -8 K^{2}+6 K-7
\end{aligned}
$$

Algebra Tiles
Use tiles to model $\left(3 b^{2}-2 b-1\right)-\left(-2 b^{2}-b+2\right)$ Write a subtraction sentence solve

subtract $-\left(-2 b^{2}-b+2\right)$


$$
\begin{aligned}
& 5 b^{2}-1 b-3 \\
& \operatorname{pg} 234 \# 4-8,10,12,13,15
\end{aligned}
$$

